Questions

72. The number of integer (positive, negative or zero) solutions of

zy—6(r+y)=0
with ¢ < y is '

(A) 5 (B) 10; (C) 12; (D) 9.
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76. Let n be a positive integer. Now consider all numbers of the form 32n+1 4 92n+1_

Only one of the following statements is true regarding the last digit of these
numbers. Which one is it?

Ai It is 5 for some of these numbers but not for all.
It is 5 for all these numbers.

C) It is always 5 for n < 10 and it is 5 for some n > 10.
D) It is odd for all of these numbers but not necessarily 5.
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